| Efficiency vs Dxy |
0.2
<

£ N S SO SUUUNE NS VUL JOOOOOL S MO S
R N A A S

DG
Q@ S
R A Sl St R A S S
© - : : : : : : : :
O e S S A S S
e T
008+t
i o e e e o

.7 R 0 ot o s
00

OL.\,O_IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII

Rati

09 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_TTbase

| Efficiency vs Dz |

—— DQM_CKF_TT_retrainOldFiles125 v2_prelimWP2_epoch4

N 0.5
= H H H H H
D.45F - Feeeeeeeees Peeeeeeeee Beeeeeeeen frreeeeseen e
> . . . . .

8] - : : : : :
c e Tenemeneees S Prosneeenees A R
Q 0'4: E : : : :
Q C . ; . . .
$.35 proteeees P P D A
O o : : : i :

RS RS e - —
0.25f vl

o """"" mﬂ#ﬂ H |

*

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


